

Practice Sheet: Fractions, Set # 1403

All answers are to be written as a single (reduced) fraction or integer.

$\frac{4}{11} - \frac{3}{5} =$	$\frac{1}{1} - \frac{9}{5} =$	$\frac{5}{12} - \frac{7}{5} =$	$\frac{10}{3} - \frac{1}{4} =$	$\frac{4}{3} - \frac{3}{4} =$
$\frac{3}{4} - \frac{5}{3} =$	$\frac{3}{2} - \frac{1}{3} =$	$\frac{1}{8} - \frac{3}{11} =$	$\frac{8}{5} - \frac{3}{5} =$	$\frac{6}{1} - \frac{7}{3} =$
$\frac{10}{11} - \frac{1}{5} =$	$\frac{10}{11} - \frac{5}{9} =$	$\frac{4}{11} - \frac{7}{3} =$	$\frac{7}{5} - \frac{7}{8} =$	$\frac{1}{2} - \frac{2}{7} =$
$\frac{12}{11} - \frac{2}{7} =$	$\frac{5}{6} - \frac{3}{8} =$	$\frac{4}{3} - \frac{12}{7} =$	$\frac{10}{9} - \frac{1}{3} =$	$\frac{1}{2} - \frac{1}{1} =$
$\frac{1}{1} - \frac{1}{1} =$	$\frac{8}{5} - \frac{2}{3} =$	$\frac{6}{11} - \frac{3}{2} =$	$\frac{1}{3} - \frac{11}{10} =$	$\frac{1}{5} - \frac{7}{5} =$
$\frac{1}{2} - \frac{3}{8} =$	$\frac{6}{5} - \frac{1}{3} =$	$\frac{1}{6} - \frac{2}{1} =$	$\frac{6}{5} - \frac{1}{7} =$	$\frac{5}{3} - \frac{1}{1} =$
$\frac{1}{2} - \frac{4}{5} =$	$\frac{3}{2} - \frac{3}{7} =$	$\frac{6}{5} - \frac{7}{9} =$	$\frac{10}{7} - \frac{1}{6} =$	$\frac{9}{11} - \frac{4}{9} =$
$\frac{1}{1} - \frac{1}{1} =$	$\frac{5}{7} - \frac{3}{2} =$	$\frac{8}{5} - \frac{4}{7} =$	$\frac{7}{9} - \frac{3}{1} =$	$\frac{11}{5} - \frac{1}{11} =$
$\frac{4}{3} - \frac{3}{1} =$	$\frac{8}{9} - \frac{4}{9} =$	$\frac{1}{2} - \frac{11}{10} =$	$\frac{5}{2} - \frac{3}{7} =$	$\frac{7}{4} - \frac{1}{1} =$
$\frac{10}{11} - \frac{5}{11} =$	$\frac{1}{1} - \frac{3}{11} =$	$\frac{1}{1} - \frac{1}{1} =$	$\frac{5}{4} - \frac{3}{2} =$	$\frac{11}{6} - \frac{9}{7} =$
$\frac{2}{1} - \frac{2}{5} =$	$\frac{1}{1} - \frac{11}{6} =$	$\frac{11}{6} - \frac{2}{3} =$	$\frac{2}{1} - \frac{3}{11} =$	$\frac{1}{7} - \frac{9}{5} =$
$\frac{5}{2} - \frac{4}{9} =$	$\frac{1}{8} - \frac{7}{4} =$	$\frac{1}{10} - \frac{11}{4} =$	$\frac{3}{2} - \frac{3}{2} =$	$\frac{4}{1} - \frac{6}{1} =$
$\frac{11}{7} - \frac{11}{9} =$	$\frac{11}{6} - \frac{1}{3} =$	$\frac{5}{4} - \frac{1}{2} =$	$\frac{7}{9} - \frac{7}{4} =$	$\frac{11}{10} - \frac{7}{6} =$
$\frac{1}{1} - \frac{1}{4} =$	$\frac{2}{7} - \frac{10}{9} =$	$\frac{11}{2} - \frac{4}{11} =$	$\frac{9}{4} - \frac{1}{1} =$	$\frac{1}{2} - \frac{2}{1} =$